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1. gz (12%)
2. p-value ;= (6% )
3. G EAE (12%)
= ~Let X,,--, X, and Y,,---Y, be two independent random samples with the same mean & and

known variances o and o7, respectively.

1. Show that for every ce[01],U =cX +(1—c)Y is an unbiased estimator of &, where

)T:lz ZEZYJ_. (6%)
m n4=s
2. Find the value of ¢ for which the variance of U is minimum. (14%)

fu

« Let X,Y and Z be random variables taking values in {0,1} .Denote P, =PX=iY=}Z=k),

I, j,k e{O,l}. Construct an example for pijk such that X,Y and Z are pairwise independent

but not independent. (20%)

2 ~ Suppose the joint p.d.f.of X and Y is
xy, iIf O<x<y<a
f(x,y)= .
0, otherwise.
(@ Find a. (15%)
(b) Compute E(X|Y =Yy). (15%)




